MAKITA SERVICE INFORMATION

1.10.2019r.

Model No.DDF458 CORDLESS DRIVER DRILL

1/4

https://msi.makita.co.jp/MsiWW/MsiWW/swi/print.ntml



1.10.2019r. MAKITA SERVICE INFORMATION

Model No.DDF458 CORDLESS DRIVER DRILL

ApTukyn HOHMaep OnuvcaHue CmaHa|KonuvmuyecTBO|New/Old|[Tpopagaxb6alllokynkal3abenexka
yacTTa
001 814Y91-3 DDF458 NAME PLATE 1
002A 187430-3 HOUSING SET 1
002B 187430-3 HOUSING SET 1
002C 187930-3 HOUSING SET 1
002D 187430-3 HOUSING SET 1
002E 187430-3 HOUSING SET 1
002F 187430-3 HOUSING SET 1
C10 263005-3 WHNeT FTYMEH 6 2
C20 252126-6 HEX. LOCKING NUT M4-7 2
D10 INC. 28
BUHT
003 266130-9 CAMOHABMWBEH C 7
BPbH3 KA PT 3x16
004 126100-9 | SHEED OHANGE LEVER 1
C10 233438-6 HE%ZT-(H(H:QAU_LA“ 2
005 ar9250-0 (HEEBKIIOUBATEN 1
006-1 650724-4  [SWITCH TG573FSB-3 1
007 620138-1  [LIGHT CIRCUIT 1
008 2322200 | [P XKUH A 2
009 140963-9 SWITCH PLATE COMPLETE 1
o10 424476-1 CUSHION 1
011 251468-5 F%M/-\'_ég (’\.;,IGEZJ;OCKA 1
012A 766015-4 KEYLESS DRILL CGHUCK 13 1 *
012B 766015-4 KEYLESS DRILL CGHUCK 13 1 *
012C 766015-4 KEYLESS DRILL CHUCK 13 1 *
012D 766015-4 KEYLESS DRILL CHUCK 13 1 *
012E 766015-4 KEYLESS DRILL CGHUCK 13 1 *
012-1A 763248-2 KEYLESS DRILL CHUCK 13 < 1
012-1B 763248-2 KEYLESS DRILL CHUCK 13 < 1
012-1C 763248-2 KEYLESS DRILL CHUCK 13 < 1
012-1D 763248-2 KEYLESS DRILL CHUCK 13 < 1
012-1E 763248-2 KEYLESS DRILL GHUCK 13 < 1
012-1F 763248-2 KEYLESS DRILL CHUCK 13 1
BUHT
013 265995-6 CAMOHABWBEH 4
4x18
014 126098-0 GEAR ASSEMBLY 1
015 638989-8 YOKE UNIT 1
016 619301-1 ARMATURE 1 *
016-1 619496-0 ARMATURE < 1
017 638991-1 BRUSH HOLDER COMPLETE 1
C10 688172-7 LINE FILTER 1 *
017-1 632K64-8 BRUSH HOLDER COMPLETE < 1
C10 688172-7 LINE FILTER 1
018 194427-5 |SARLOHOBA 1
019 263032-0 LHNOT FTYMEH 4 2
020A 453394-6 REAR COVER 1
020B 453394-6 REAR COVER 1
020C 455146-1 REAR COVER 1
020D 453394-6 REAR COVER 1
020E 453394-6 REAR COVER 1
020F 453394-6 REAR COVER 1
BUHT
021 266130-9 CAMOHABHWBEH C 2
BP b3 KA PT 3x16
022 644808-8 TERMINAL 1
023 424430-5 SEAL 1
024 423422-1 SPONGE A 1
BUHT C
025 911013-5 UNANHOPUYHA 1
T J1ABA M3x10
026 423423-9 SPONGE B 1
027 689176-2 HEAT SINK 1
Please order the parts with part number. Print Date 1/10/2019

https://msi.makita.co.jp/MsiWW/MsiWW/swi/print.ntml 2/4



1.10.2019r.

Model No.DDF458 CORDLESS DRIVER DRILL

MAKITA SERVICE INFORMATION

ApTukyn HOHMaep OnuvcaHue CmaHa|KonuvmuyecTBO|New/Old|[Tpopagaxb6alllokynkal3abenexka
YyacTTa
028A 187430-3  |HOUSING SET 1
028B 187430-3  |HOUSING SET 1
028G 187930-3  |HOUSING SET 1
028D 187430-3  |HOUSING SET 1
028E 187430-3  |HOUSING SET 1
028F 187430-3  |HOUSING SET 1
ci0 263005-3 WHNOT FT'YMEH 6 2
c20 252126-6  |HEX. LOCKING NUT M4-7 2
D10 ING. 2
AOT-1 123258-5 | GRIP ASSEMBLY 1
c10 154935-8 | GRIP 36 COMPLETE 1
€20 266899-5 | SQUARE BOLT M8X140 1
€30 346566-9  |GRIP SPRING 60 1
c40 455189-3 | GRIP BASE 60 1
A02 251314-2  |BWUHT M4x12 2
A03 346317-0  |HOOK 1
A04 a52047-8  [DBEAAT SA 1
A5 784637-8 |+~ CBP E [1J10 2-45 2
AO6B ##+DC18RC |DC18RC FAST CHARGER 1
AO6G ##%DC18RC |DC18RC FAST GHARGER 1
A06D ##%DC18RC |DC18RC FAST CHARGER 1
AOGE ##%DC18RC |DC18RC FAST CHARGER 1
AOGF ##%DC18RC |DC18RC FAST CHARGER 1
AO7B 1042045 | & N1 EVM/ Hoan”" 2 *
A07-1B 194204-5 §L¢8;0E1 g’vl;‘ ?_0'-A'h'°” 0 2 *
A07-1D 1942045 |2 N1 stM/ Hoan" L *
AOT-1E 197280-8  |BATTERY BL1850B SET 2
A07-2B 197600-6  |BATTERY BL1830B SET < 2
A07-2C 197600-6  |BATTERY BL1830B SET < 3
A07-2D 197600-6  |BATTERY BL1830B SET < 2
AO7-2F 197600-6  |BATTERY BL1830B SET 3
A0SB 450128-8 BATEPUWA KATMAK 1
A08C 450128-8 |BATEPMKA KAMAK 2
A08D 450128-8 BATEPUA KAMAK 1
AOSE 450128-8 BATEPUA KAMAK 1
AO8F 450128-8 BATEPWA KAMAK 2
A09B 52150 gr(\)(l\g’r\ég()DTOR PLASTIC CASE :
c10 453974-8  |LATGH 4
209G 821550-0 (QI_(\)(I\FI,IEI;()JTOR PLASTIC CASE :
c10 453974-8  |LATGCH 4
A09D 821524-1  |PLASTIC CARRYING CASE 1
c10 162302-3  |LATCH 2
c20 325809-2 | SHAFT 1
c30 451749-9  |HANDLE 1
c40 453473-0  |PLASTIC CASE LID 1
Y 215500 ((_)I_%I\Fl)l\élg())TOR PLASTIC CASE :
c10 453974-8  |LATGH 4
ObF ) ((_)I_C\)(I\gl\éI;?TOR PLASTIC CASE :
c10 453974-8  |LATGH 4
il 802091-5 |PDEASBRIE PLASTIG GASE )
A10-1B 837916-4  |INNER TRAY 1
AT0-1C 837916-4  |INNER TRAY 1
AT0-1E 837916-4  |INNER TRAY 1
AT0-1F 837916-4  |INNER TRAY 1
AT1B 802079-5 EEEEESRFJ INDICATION :

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/swi/print.ntml

Print Date 1/10/2019

3/4



1.10.2019r.

Model No.DDF458 CORDLESS DRIVER DRILL

MAKITA SERVICE INFORMATION

ApTukyn HHaOgM;TDa OnuvcaHue CmaHa|KonuvmuyecTBO|New/Old|[Tpopagaxb6alllokynkal3abenexka
AT1C 803R42-9 | PDF4SBF3W INDIGATION ;
A1E 308W28-8 EEEEESRTJ INDICATION ]
AIFE 8020826 EEEAEESRF!}J INDICATION |
A12B 802083-4 | POF4SBRFJ PLASTIC GASE 5
A12G 303R43—7 [L)ADEEESFSWJ PLASTIC CASE )
AM2E 8095295 IIZ_)ADgéEBRTJ PLASTIG CASE )
A12F 808v99-7 | PDF45BRF3J PLASTIC GASE 5

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/swi/print.ntml

Print Date 1/10/2019

4/4



